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Question Id : 68634049818 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Question Label : Comprehension

Over the past few years. India's economy has expanded progressively. which has
prompted the establishment of numerous prosperous businesses. These enterprises
have been able to compelte successfully with some of the largest brands in the
international market by utilizing the nation's sizable and expanding market as well
as its skilled labor force.

In India, there is a substantial and expanding local market, which is one of the
factors contributing to these enterprises' rapid growth. India 1s one of the world's
biggest consumer markets with a population of more than 1.3 billion. As a result.
businesses can now focus on meeting the needs of regional customers and laying a
solid groundwork for future expansion.

These businesses have also been able to benefit from globalization and the
growing interconnection of the world economy at the same time. Through
partnerships or acquisitions, many of these businesses have been able to grow their
operations abroad and access new markets all around the world.

India's developing businesses continue to prosper and grow. These businesses are
well-positioned to continue to be successful in the years to come because of a
sizable and expanding market. a competent workforce. and an emphasis on
mnovation and entrepreneurship. It i1s expected that as the nation develops and
grows. more businesses will start up. spawning fresh markets and propelling
domestic and global economic growth.

The Economic Times and Statista come together to unveil the fourth edition of
India's Growth Champions 2023 ranking the Top 125 companies in India that have
accomplished the highest percentage growth in revenues between 2019 and 2022,

This annual ranking puts the focus on the fastest growing companies among all
Indian industries regarding revenue. Enterprises must have generated minimum
revenue numbers over a three-year period to register and apply. be mdependent
entities. and have primarily demonstrated organic growth.

Sub questions

Question Number : 1 Question Id : 68634049819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select the most appropriate title for the passage.
1. Economic Times and statista rank companies
2. Population of India - A boon or a bane
3. India's Growth Champions

4. Globalisation and development - a case study
Options :
686340196801. 1
686340196802. 2
686340196803. 3
686340196804. 4

Question Number : 2 Question Id : 68634049820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an exclusive criteria for the Growth Champion
Rankings

1. Generating minimun revenue mbers

| ()

. Being an independent entity
3. Demonstrating organic growth

4. Having operated for atleast three years
Options :
686340196805. 1
686340196806. 2
686340196807. 3
686340196808. 4

Question Number : 3 Question Id : 68634049821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What enables business in laying a solid groundwork for future expansion?
1. India's substantial and expanding local market
2. India's progressively expanding economy
3. Population of 1.3 billion

4. Meeting the needs of regional customers
Options :
6863401968009. 1
686340196810. 2
686340196811. 3
686340196812. 4

Question Number : 4 Question Id : 68634049822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Partnerships and acquistion are made possible due to :

1. India's population

| ]

. Globalisation

LS ]

. Progressive expansion of economy

4. Growing operations abroad
Options :
686340196813. 1
686340196814. 2
686340196815. 3
686340196816. 4

Question Number : 5 Question Id : 68634049823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following events are expeted becuase of the starting up of new
businesses?

A. New markets would come up

B. A competent work force will emerge

C. Domestic economic development

D. Global economic growth

E. An emphasis on innovation and entrepreneurship

Choose the correct answer from the options given below:

1. B and E only

| ]

.B. Cand D only
3. A.B and E only

4. A, C and D only
Options :
686340196817. 1
686340196818. 2
686340196819. 3
686340196820. 4

Question Id : 68634049818 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Over the past few years. India's economy has expanded progressively. which has
prompted the establishment of numerous prosperous businesses. These enterprises
have been able to compelte successfully with some of the largest brands in the
mternational market by utilizing the nation's sizable and expanding market as well
as its skalled labor force.

In India, there is a substantial and expanding local market, which is one of the
factors contributing to these enterprises' rapid growth. India 1s one of the world's
biggest consumer markets with a population of more than 1.3 billion. As a result.
businesses can now focus on meeting the needs of regional customers and laying a
solid groundwork for future expansion.

These businesses have also been able to benefit from globalization and the
growing interconnection of the world economy at the same time. Through
partnerships or acquisitions, many of these businesses have been able to grow their
operations abroad and access new markets all around the world.

India's developing businesses continue to prosper and grow. These businesses are
well-positioned to continue to be successful in the years to come because of a
sizable and expanding market. a competent workforce, and an emphasis on
innovation and entrepreneurship. It is expected that as the nation develops and
grows. more businesses will start up. spawning fresh markets and propelling
domestic and global economic growth.

The Economic Times and Statista come together to unveil the fourth edition of
India's Growth Champions 2023 ranking the Top 125 companies in India that have
accomplished the highest percentage growth in revenues between 2019 and 2022.

This annual ranking puts the focus on the fastest growing companies among all
Indian industries regarding revenue. Enterprises must have generated minimum
revenue numbers over a three-year period to register and apply. be mdependent
entities. and have primarily demonstrated organic growth.

Sub questions

Question Number : 1 Question Id : 68634049819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the most appropriate title for the passage.

1. Economic Times and statista rank companies

[

. Population of India - A boon or a bane
3. India's Growth Champions

4. Globalisation and development - a case study



Options :

686340196801. 1
686340196802. 2
686340196803. 3
686340196804. 4

Question Number : 2 Question Id : 68634049820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not an exclusive criteria for the Growth Champion
Rankings

1. Generating minimun revenue mbers

| ()

. Being an independent entity
3. Demonstrating organic growth

4. Having operated for atleast three years
Options :
686340196805. 1
686340196806. 2
686340196807. 3
686340196808. 4

Question Number : 3 Question Id : 68634049821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What enables business in laying a solid groundwork for future expansion?

1. India's substantial and expanding local market

| )

. India's progressively expanding economy
3. Population of 1.3 billion

4. Meeting the needs of regional customers
Options :
6863401968009. 1
686340196810. 2
686340196811. 3
686340196812. 4



Question Number : 4 Question Id : 68634049822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Partnerships and acquistion are made possible due to :

1. India's population

| )

. Globalisation

Tl

. Progressive expansion of economy

4. Growing operations abroad
Options :
686340196813. 1
686340196814. 2
686340196815. 3
686340196816. 4

Question Number : 5 Question Id : 68634049823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following events are expeted becuase of the starting up of new
businesses?

A. New markets would come up

B. A competent work force will emerge

C. Domestic economic development

D. Global economic growth

E. An emphasis on mnovation and entrepreneurship

Choose the correct answer from the options given below:

1. B and E only

| ]

.B. C and D only
3. A.B and E only

4. A. C and D only
Options :
686340196817. 1
686340196818. 2
686340196819. 3
686340196820. 4



Sub-Section Number : 2

Sub-Section Id : 6863401623
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 6 Question Id : 68634049824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blank with the appropriate verb

The teacher as well as the students commutted to the course.

1. are

| ]

. are being
3. 18

4, were
Options :
686340196821. 1
686340196822. 2
686340196823. 3
686340196824. 4

Question Number : 6 Question Id : 68634049824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fill in the blank with the appropriate verb

The teacher as well as the students commutted to the course.

1. are

| ]

. are being
3. 18

4. were
Options :
686340196821. 1
686340196822. 2
686340196823. 3
686340196824. 4



Question Number : 7 Question Id : 68634049825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct preposition to complete the sentence.

[ have an aversion eating with dirty hands.

1. with
2. to
3. from

4. by
Options :
686340196825. 1
686340196826. 2
686340196827. 3
686340196828. 4

Question Number : 7 Question Id : 68634049825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct preposition to complete the sentence.

I have an aversion eating with dirty hands.

1. with
2. to
3. from

4. by
Options :
686340196825. 1
686340196826. 2
686340196827. 3
686340196828. 4

Question Number : 8 Question Id : 68634049826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
[Ensconce [. |Flowenng or fruiting earlier than usual
Precocious II. [Lesser the seriousness of something

[Defenestration | [I1. [Establish in a secret place
Extetiuate IV. |The active of throwing someone out of a windowj

ofa[w]>

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-III

| ]

AL B-1L C-IV. D-II
3. A-IL. B-1II. C-1. D-IV

4. A-IV, B-II. C-III. D-I
Options :
686340196829. 1
686340196830. 2
686340196831. 3
686340196832. 4

Question Number : 8 Question Id : 68634049826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
A |Ensconce [. |Flowerning or fruiting earlier than usual
B. [Precocious II. [Lesser the seriousness of something
C. |[Defenestration | [IL. |[Establish in a secret place
D. [Extenuate IV. |The active of throwing someone out of a windowj

Choose the correct answer from the options given below:

1. A-I. B-IV. C-II. D-III

| ]

AL B-1L C-IV. D-II
3. A-II. B-III. C-I. D-IV
4. A-IV. B-II. C-1II. D-I

Options :
686340196829. 1



686340196830. 2
686340196831. 3
686340196832. 4

Question Number : 9 Question Id : 68634049827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate phrased verb from the given options to fill in the blank
meaningfully.

The audience was by her magical entrance.

1. blown over

[ ]

. broken down

Taa

. bowled over

4. boiled down
Options :
686340196833. 1
686340196834. 2
686340196835. 3
686340196836. 4

Question Number : 9 Question Id : 68634049827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the appropriate phrased verb from the given options to fill in the blank
meaningfully.

The audience was by her magical entrance,

1. blown over
2. broken down
3. bowled over

4. boiled down
Options :
686340196833. 1
686340196834. 2
686340196835. 3



686340196836. 4

Question Number : 10 Question Id : 68634049828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following sentence has an error. Choose the option where the error is
corrected.

Given that inflation was touched 8 percent or so. the drop in the price-rise trend
seems like a good thing.

1. Given that inflation has touched

| ]

. 8 percent and so
3. a drop in the price - rise trend

4. had seemed like a good thing
Options :
686340196837. 1
686340196838. 2
686340196839. 3
686340196840. 4

Question Number : 10 Question Id : 68634049828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The following sentence has an error. Choose the option where the error 1s
corrected.

Given that inflation was touched 8 percent or so. the drop in the price-rise trend
seems like a good thing.

1. Given that inflation has touched

| B

. 8 percent and so
3. a drop in the price - rise trend

4. had seemed like a good thing
Options :
686340196837. 1
686340196838. 2
686340196839. 3



686340196840. 4

Question Number : 11 Question Id : 68634049829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a single discount equivalent to series of dicounts 10%. 15%. 20%

1.3

i

%o

| ()

. 38.8%
3. 40%

4. 42.2%
Options :
686340196841. 1
686340196842. 2
686340196843. 3
686340196844. 4

Question Number : 11 Question Id : 68634049829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find a single discount equivalent to series of dicounts 10%, 15%. 20%

1.3

i

%o

| ()

. 38.8%
3. 40%

4.42.2%
Options :
686340196841. 1
686340196842. 2
686340196843. 3
686340196844. 4

Question Number : 12 Question Id : 68634049830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



. ) . . . .
The surface area of a cube 15 864 cm~. The length of its diagonal (in cm) 1s

1.12

[ ]

.4 43
3.642

4. 12 43
Options :
686340196845. 1
686340196846. 2
686340196847. 3
686340196848. 4

Question Number : 12 Question Id : 68634049830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' 7 . . . .
The surface area of a cube 1s 864 em~. The length of its diagonal (in cm) 1s

1.12

| ]
Ny
=
N

4.12 43
Options :
686340196845. 1
686340196846. 2
686340196847. 3
686340196848. 4

Question Number : 13 Question Id : 68634049831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ifin a AABC. £A + £B =90° and cos B = 12/13. then find the value of sin C - tan
AsinB-smA

1.1
2.-24/13
3.-11/13
4. -85/156

Options :

686340196849. 1
686340196850. 2
686340196851. 3
686340196852. 4

Question Number : 13 Question Id : 68634049831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ifin a AABC. £A+ £B =90° and cos B = 12/13. then find the value of sin C - tan
AsinB-smA

1.1
2.-24/13
3.-11/13
4. -85/156

Options :

686340196849. 1
686340196850. 2
686340196851. 3
686340196852. 4

Question Number : 14 Question Id : 68634049832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average weight of 50 students in a class 1s 45kg. One student leaves the class
and the average weight reduces by 1/2 kg. what 1s the weight of the student (in kg)
who left the class?

1. 67.5

| ]

. 68
3. 69

4. 69.5
Options :
686340196853. 1
686340196854. 2
686340196855. 3
686340196856. 4

Question Number : 14 Question Id : 68634049832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The average weight of 50 students in a class 1s 45kg. One student leaves the class
and the average weight reduces by 1/2 kg. what 1s the weight of the student (in kg)
who left the class?

1. 67.5

| ]

. 68
3. 69

4. 69.5
Options :
686340196853. 1
686340196854. 2
686340196855. 3
686340196856. 4

Question Number : 15 Question Id : 68634049833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Persons in the ratio 11:14 are attending conference in hall A and hall B. If 20
persons from hall B move to hall A, the ratio will become 12:13. How many
persons are attending conference in hall A?

1:200

| ]

. 220
3.231

4,242
Options :
686340196857. 1
686340196858. 2
686340196859. 3
686340196860. 4

Question Number : 15 Question Id : 68634049833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Persons in the ratio 11:14 are attending conference in hall A and hall B. If 20
persons from hall B move to hall A, the ratio will become 12:13. How many
persons are attending conference in hall A?

1:200

| ]

. 220
3.231

4. 242
Options :
686340196857. 1
686340196858. 2
686340196859. 3
686340196860. 4

Question Number : 16 Question Id : 68634049834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



On what day of February 1997 did first Friday fall?

1.

L

|
o

4.8
Options :
686340196861. 1
686340196862. 2
686340196863. 3
686340196864. 4

Question Number : 16 Question Id : 68634049834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
On what day of February 1997 did first Friday fall?

1.

L

J
o

4.8
Options :
686340196861. 1
686340196862. 2
686340196863. 3
686340196864. 4

Question Number : 17 Question Id : 68634049835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find the missing term in the series lmnpq3. 2npqm4. 3pqmn5, ?

1. 5gmpné

| ]

. Tmqp4

Tl

. 4qmnp6

4. 4mmnpqs
Options :
686340196865. 1
686340196866. 2
686340196867. 3
686340196868. 4

Question Number : 17 Question Id : 68634049835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Find the missing term in the series lmnpg3. 2npgm4. 3pqmnS5, ?

1. 5gmpn6

| ]

. Tmqp4

L]

. 4gmnp6

4. 4nmpqs
Options :
686340196865. 1
686340196866. 2
686340196867. 3
686340196868. 4

Question Number : 18 Question Id : 68634049836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Point B is 6m towards East of point A. Point C 1s 3 m towards the North of point
B. Point D 18 4 m towards the East of point C. Point E 18 3 m towards the south of
point D. A man starts from A and walks towards South 2m. He turns left and walks
for 6 m. He then starts walking towards North. Find out which point will he meet
first.

Choose the correct options :

1.D

=

C
3. B

4. B
Options :
686340196869. 1
686340196870. 2
686340196871. 3
686340196872. 4

Question Number : 18 Question Id : 68634049836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Point B iz 6m towards East of point A. Point C 18 3 m towards the North of point
B. Point D 1s 4 m towards the East of point C. Point E 1s 3 m towards the south of
point D. A man starts from A and walks towards South 2m. He turns left and walks
for 6 m. He then starts walking towards North. Find out which point will he meet
tirst.

Choose the correct options :

1.D

=

i
A B

4.B
Options :
6863401968609. 1
686340196870. 2
686340196871. 3
686340196872. 4



Question Number : 19 Question Id : 68634049837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A statement followed by four conclusions A. B. C. D are given.

Study the conclusions based on given statement and find which of the conclusions
tollow.

Statement : All leaves are flowers
All flowers are branches
Conclusions : A. All branches are leaves
B. All leaves are branches
C. All flowers are branches
D. All flowers are leaves

Choose the correct option

1. only A and D

| ]

.only B and C
3. only A

4. only C and D
Options :
686340196873. 1
686340196874. 2
686340196875. 3
686340196876. 4

Question Number : 19 Question Id : 68634049837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A statement followed by four conclusions A. B. C. D are given.

Study the conclusions based on given statement and find which of the conclusions
tollow:.

Statement : All leaves are flowers
All flowers are branches
Conclusions : A. All branches are leaves
B. All leaves are branches
C. All flowers are branches
D. All flowers are leaves

Choose the correct option :

l.onlyAand D

-

.only B and C

L]

.only A

4. only Cand D
Options :
686340196873. 1
686340196874. 2
686340196875. 3
686340196876. 4

Question Number : 20 Question Id : 68634049838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Lily. Meena. Neha. Onkar, Preeti. Aman and Ritu are sitting on a round table and
all are facing the center of table Onkar 1s sitting between Lily and Ritu. Aman i1s
second to the right of Ritu and Preeti is second to the right of Aman. Neha 1s not an
immediate neighbour of Ritu.

Find out how many persons are sitting between Neha and Ritu in clockwise
direction.if we start to count from ritu?

Choose the correct option :

1:2

| ]
i

3. 4

4.5
Options :
686340196877. 1
686340196878. 2
686340196879. 3
686340196880. 4

Question Number : 20 Question Id : 68634049838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Lily. Meena. Neha, Onkar. Preeti. Aman and Ritu are sitting on a round table and
all are facing the center of table Onkar 1s sitting between Lily and Ritu. Aman 1s

second to the right of Ritu and Preeti 18 second to the right of Aman. Neha 1s not an
immediate neighbour of Ritu.

Find out how many persons are sitting between Neha and Ritu in clockwise
direction.if we start to count from ritu?

Choose the correct option :

1:2

| ]
L]

3.4

4.5
Options :
686340196877. 1
686340196878. 2



686340196879. 3
686340196880. 4

Question Number : 21 Question Id : 68634049839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"National Panchayati Raj’ Day in India celebrated on

1. 26t January

289 October

-2

3. 215 April

4. 224%™ April
Options :
686340196881. 1
686340196882. 2
686340196883. 3
686340196884. 4

Question Number : 21 Question Id : 68634049839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"National Panchayati Raj’ Day in India celebrated on

1,260 January

. 224 October

|

3. 215 April

4, 24™ Apri]
Options :
686340196881. 1
686340196882. 2
686340196883. 3
686340196884. 4

Question Number : 22 Question Id : 68634049840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (newspaper)[LIST II (place of publication)
A |The Times I. |China
B. |The Island II. [London
C. [Red flag II1. [Karachi
D. [Davwn IV |Colombo

Choose the correct answer from the options given below:

1. A-IL. B-IV, C-I. D-III

| ]

A-IL B-IV. C-II1L D-I
3. A-IV, B-1I. C-I. D-III

4. A-III. B-IV. C-1. D-II
Options :
686340196885. 1
686340196886. 2
686340196887. 3
686340196888. 4

Question Number : 22 Question Id : 68634049840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST I (newspaper)]LIST II (place of publication)
A |The Times [. |China
B. |The Island II. [London
C. [Red flag III. [Karachi
D. [Davwn IV |Colombo

Choose the correct answer from the options given below:

1. A-II. B-IV. C-I. D-III

| ]

CA-IL B-IV. C-IIIL. D-I
3. A-IV. B-II. C-I, D-III
4. A-III. B-IV. C-I, D-II

Options :
686340196885. 1



686340196886. 2
686340196887. 3
686340196888. 4

Question Number : 23 Question Id : 68634049841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who has received the Nobel Prize for the year 2022 in the field of Medicine?

1. Elle Jons

| ]

. George Mathews
3. Svante Pabo

4. Andy Booker
Options :
686340196889. 1
686340196890. 2
686340196891. 3
686340196892. 4

Question Number : 23 Question Id : 68634049841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who has received the Nobel Prize for the year 2022 in the field of Medicine?

1. Elle Jons

| ]

. George Mathews
3. Svante Pabo

4. Andy Booker
Options :
686340196889. 1
686340196890. 2
686340196891. 3
686340196892. 4

Question Number : 24 Question Id : 68634049842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The petroleum gas liquified under pressure is called liquified gas
(LPG)

Statement II: LPG consists mainly of methane (95%) which is a relatively
unreactive hydrocarbons and make it nearly complete combustion possible.

In the light of the above statements, choose the correct answer from the options
given below

1. Both Statement [ and Statement II are true

[ ]

. Both Statement I and Statement II are false

L]

. Statement I 1s true but Statement II 1s false

4, Statement I 1s false but Statement II 1s true
Options :
686340196893. 1
686340196894. 2
686340196895. 3
686340196896. 4

Question Number : 24 Question Id : 68634049842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The petroleum gas liquified under pressure 1s called liquified gas
(LPG)

Statement II: LPG consists mainly of methane (95%) which is a relatively
unreactive hydrocarbons and make it nearly complete combustion possible.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement [ and Statement I are true

[ ]

. Both Statement I and Statement II are false

L)

. Statement I 1s true but Statement IT 1s false

4, Statement I 15 false but Statement II 1s true
Options :
686340196893. 1
686340196894. 2
686340196895. 3
686340196896. 4



Question Number : 25 Question Id : 68634049843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term 'cherry picking' 1s used in which sports?

1. Swimming
2. Table Tennis
3. Basketball

4. Cricket
Options :
686340196897. 1
686340196898. 2
686340196899. 3
686340196900. 4

Question Number : 25 Question Id : 68634049843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The term 'cherry picking' is used in which sports?

1. Swimming
2. Table Tennis
3. Basketball

4. Cricket
Options :
686340196897. 1
686340196898. 2
686340196899. 3
686340196900. 4

Part B: Plastic Arts

Section Id : 686340982
Section Number : 2
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401624
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634049844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Biscuit firing 1s related with :

1. Sand casting

| )

. Lost wax process
3. Dogra casting

4. Ceramics
Options :
686340196901. 1
686340196902. 2
686340196903. 3
686340196904. 4

Question Number : 26 Question Id : 68634049844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ferepe ol ey Jafed &°
1. 98 BIRET
2. T o Wb
3. ST BT
4, Wfte

Options :
686340196901. 1



686340196902. 2
686340196903. 3
686340196904. 4

Question Number : 27 Question Id : 68634049845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
What is patina?

1. Pamnt coating

| ]

. Scrubbing of surface
3. Chemical reaction

4. Washing of surface
Options :
686340196905. 1
686340196906. 2
686340196907. 3
686340196908. 4

Question Number : 27 Question Id : 68634049845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 82

1. T DAL

2. 9dg DI GIII
3. TS UG

4. g D Yarg
Options :
686340196905. 1
686340196906. 2
686340196907. 3
686340196908. 4

Question Number : 28 Question Id : 68634049846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
Which is not common in terracotta and ceramics?

1. Wedging

|

. Throwing

L]

. Centering

4. Welding
Options :
686340196909. 1
686340196910. 2
686340196911. 3
686340196912. 4

Question Number : 28 Question Id : 68634049846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WAFH 3R S eT H 1 A Tel 82
1. Ao

2. gigT
3.9l
4. afegm

Options :

686340196909. 1
686340196910. 2
686340196911. 3
686340196912. 4

Question Number : 29 Question Id : 68634049847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which solution 1s used as a seperator while taking a plaster mould from plaster
sculpture?

1. Turpentine

[

. Kerosene

T

. Diesel

4. Grease
Options :
686340196913. 1
686340196914. 2
686340196915. 3
686340196916. 4

Question Number : 29 Question Id : 68634049847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AIS B HTHT-HTT B4 & (o0 5T dcd &1 U Hd g

1. eXGCIg
2. figi i da
3. Siold

4. 919

Options :

686340196913. 1
686340196914. 2
686340196915. 3
686340196916. 4

Question Number : 30 Question Id : 68634049848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which material provides strength to clay

1. Sand

| ]

. Grog
3. Leaves

4. Husk
Options :
686340196917. 1
686340196918. 2
686340196919. 3
686340196920. 4

Question Number : 30 Question Id : 68634049848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DIH-91 YT [HE! I Hoigd a1l 6|
1.9 ()
2. T (YR BT =)
3. Sifady (9t

4. 83D (HHD
Options :
686340196917. 1
686340196918. 2
686340196919. 3
686340196920. 4

Question Number : 31 Question Id : 68634049849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



'"Runner and Riser’ 1s used in which of the following sculptural techniques -

1. Rubber Moulding

| )

. Wood Engraving
3. Metal Casting

4. Stone Grinding
Options :
686340196921. 1
686340196922. 2
686340196923. 3
686340196924. 4

Question Number : 31 Question Id : 68634049849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TR AR 5oR g gfdedd o1 ddb-ie ¥ WarT fedl S g

1. JaR HifcdT

2. 48 ST
3. Hed HIET

4. T IERET
Options :
686340196921. 1
686340196922. 2
686340196923. 3
686340196924. 4

Question Number : 32 Question Id : 68634049850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s not a stone.

1. Marble

| ]

. Stoneware
3. Sandstone

4. Granite
Options :
686340196925. 1
686340196926. 2
686340196927. 3
686340196928. 4

Question Number : 32 Question Id : 68634049850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S0 Y D G IR el 6|
1. ATad
2. €AW
3. 48 ®M
4, I

Options :

686340196925. 1
686340196926. 2
686340196927. 3
686340196928. 4

Question Number : 33 Question Id : 68634049851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sometimes an Artist may collaborate with the founder in the foundry. This 1s called
process.

1. Stone carving process
2. Bronze casting process
3. Lost way process

4. Welding process
Options :
686340196929. 1
686340196930. 2
686340196931. 3
686340196932. 4

Question Number : 33 Question Id : 68634049851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UL e FAER Bl § RGP & 1Y Je4 TR J&hdl & | ST@]
Wikl Bl Wil § |

1. T PRI fshar
2. I gally, Hichal
3. die 9 wichan
4, aafST wfehar

Options :

686340196929. 1
686340196930. 2
686340196931. 3
686340196932. 4

Question Number : 34 Question Id : 68634049852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 1s used to patch up the small pores or cracks in fiber glass
sculptures.

1. Paint brush

2. Surgical spatula

L]

. Metal file and clay modelling tools

4. Hard and wide edged chiesel
Options :
686340196933. 1
686340196934. 2
686340196935. 3
686340196936. 4

Question Number : 34 Question Id : 68634049852 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 WU BIgaR T Hfddal H gl a1 SRI @l 8l 1 &

Ud
fore fpar ST 21
AR

. =
S I EEN RS k= N1

—

| ]

L)

T BIgd 3R HS1 B STHR ¢ dIel a%g
4, PSR AR T3 Bl

Options :

686340196933. 1
686340196934. 2
686340196935. 3
686340196936. 4

Question Number : 35 Question Id : 68634049853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Clay. wax. plaster and paper-mache 1s part of modeling method but 18
not a part of construction method in making of sculptures.

1. Gluing
2. Die grinding
3. Welding

4. Nailing
Options :
686340196937.
686340196938.
686340196939.
686340196940.

AW N

Question Number : 35 Question Id : 68634049853 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T, 9T, WIReX AR TR-Fft Hisfei da-ie @1y € dfd
TS Tfd BT YT S B

1. Feger

2. SRS
3. dfesT

4, AAfeqT

Options :

686340196937. 1
686340196938. 2
686340196939. 3
686340196940. 4

Question Number : 36 Question Id : 68634049854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Framing. editing and digital manipulation are not hidden but revealed in -

1. Stone mosaic

| )

-RCE

Tl

. Cire-perdue

4. New media Art
Options :
686340196941. 1
686340196942. 2
686340196943. 3
686340196944. 4

Question Number : 36 Question Id : 68634049854 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TrfH, Tister 3R fSfoea A-igaer &9 61 sfce g9 uichar & Ramnsid &

1. € Ho®
Rl
AR UG

4. =g Hifsar ame

Options :

686340196941. 1
686340196942. 2
686340196943. 3
686340196944. 4

| ]

L]

Question Number : 37 Question Id : 68634049855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The use of three dimensional found objects to create artworks, usually molded or
stuck together are called

1. Assemblage

|

. Geometric
3. Illusionism

4. Orphism
Options :
686340196945. 1
686340196946. 2
686340196947. 3
686340196948. 4

Question Number : 37 Question Id : 68634049855 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HAIPId S & 1AL SIF o= ST axd B TR G HIST drsT a1 iR
feraeraT o, <1 98 @1 Heanl 82

EICINCREESE)

fomfee

w

—

| ]

3.H9H

4, TBIH
Options :
686340196945. 1
686340196946. 2
686340196947. 3
686340196948. 4

Question Number : 38 Question Id : 68634049856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In ceremics, a coating designed to make the pot impervious to water and also
serves as a decoration 1s known as

1. Gouace

|

. Glaze
3. Shine

4. Diptych
Options :
686340196949. 1
686340196950. 2
686340196951. 3
686340196952. 4

Question Number : 38 Question Id : 68634049856 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wioe of a8 AR $19 9@ 81 S 5 T8 & ad7 @ eraraur o & w3
ff grar |

1. 9=
2. T
3. gD
4. 3gfeg

Options :

686340196949. 1
686340196950. 2
686340196951. 3
686340196952. 4

Question Number : 39 Question Id : 68634049857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s the name of the scuptures which incorperates an elements of movement or
illusion of movement

1. Literati sculptures
2. Limmer sculptures
3. Kinetic sculpures

4. Fin-de-siecle sculptures
Options :
686340196953. 1
686340196954. 2
686340196955. 3
686340196956. 4

Question Number : 39 Question Id : 68634049857 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

39 gfcfaar &1 a1 =/ § S 1fd & 9 @1 7 & uH 31 St ]

1. forerdl gfdaan
2. forgeR gfciasat

oy L
3. PlgHlcd Hlddd]

4. ftp9-2-Ryat gfdean
Options :
686340196953. 1
686340196954. 2
686340196955. 3
686340196956. 4

Question Number : 40 Question Id : 68634049858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s used to darw on the surface of the stone before carving

1. Yellow grease solution

| ]

. Red oxide solution

. Guache red solution

%)

4. Wax polish
Options :
686340196957. 1
686340196958. 2
686340196959. 3
686340196960. 4

Question Number : 40 Question Id : 68634049858 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THHTRN I U TR R TSR $34 & fou (g uai &d 82

e o e

2. ©le] ATHGS Hﬁl':;_l‘{-l'i

—

T STel eIeH

4. 35T UiTerST
Options :
686340196957. 1
686340196958. 2
686340196959. 3
686340196960. 4

L]

Question Number : 41 Question Id : 68634049859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What 1s used in order to fix the plate. or to release it in repose and charing

1. pitch tray

| )

. blow torch
3. liner

4. tongs
Options :
686340196961. 1
686340196962. 2
686340196963. 3
686340196964. 4

Question Number : 41 Question Id : 68634049859 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ©1 3P H34 & fore a1 Figie 3fR IR | el &3 & o o1 Sugi
fepar wrar 22

1.ft=g
2. &1 e

3. dlg X
4, femer eim

Options :

686340196961. 1
686340196962. 2
686340196963. 3
686340196964. 4

Question Number : 42 Question Id : 68634049860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The method of weilding, gluing, nailing materials together 1s called as

1. casting method

| )

. constructive method
3. modelling method

4. substractive method
Options :
686340196965. 1
686340196966. 2
686340196967. 3
686340196968. 4

Question Number : 42 Question Id : 68634049860 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

QTS TGS, AfEHT 1 U 1Y IULNT B | db-d o] &l Hedl 6|
1. BIRET Ui

2. TATHD Uichdr

3. AifcET uidar

4, Y1 Wikl
Options :
686340196965. 1
686340196966. 2
686340196967. 3
686340196968. 4

Question Number : 43 Question Id : 68634049861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Process of making sculptures using cement as the base meterial 1s called

1. stone ware

| )

. concrete sculpturing

Tl

. cast cement ware

4. ceramics
Options :
686340196969. 1
686340196970. 2
686340196971. 3
686340196972. 4

Question Number : 43 Question Id : 68634049861 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IE= B SR JHU BT UGN BB HdPpal g4 DI Uishal 71 Dol 62
1. ¥H IR
2. dbie gfd
3. R A< R

4. WP
Options :
686340196969. 1
686340196970. 2
686340196971. 3
686340196972. 4

Question Number : 44 Question Id : 68634049862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sand casting sculptures are dimensional

1. 7D and 5D

| ]

. 4D and 2D
3. 2D and 3D

4. 3D and 5D
Options :
686340196973. 1
686340196974. 2
686340196975. 3
686340196976. 4

Question Number : 44 Question Id : 68634049862 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S HIRET Gl &1 S1MH 1 6l 8
1. 7D 3iR 5D

4D 3R 2D

3.2D 3R 3D

4.3D 3R 5D
Options :
686340196973. 1
686340196974. 2
686340196975. 3
686340196976 4

[ ]

Question Number : 45 Question Id : 68634049863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which type of wax 1s used in Dogra casting process.

1. Beewax

| ]

. Parafine wax

%)

. Epoxy wax

4. Synthetic wax
Options :
686340196977. 1
686340196978. 2
686340196979. 3
686340196980. 4

Question Number : 45 Question Id : 68634049863 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
GRR] BIRCT ¥ ford YR &1 9y &1 Yl 8idl |

1. §l-99g
2. TRIf 499

3. sOIadl 3ag
4. Riufew gag

Options :

686340196977. 1
686340196978. 2
686340196979. 3
686340196980. 4

Question Number : 46 Question Id : 68634049864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Clay sculpture and clay-pots should be baked at the temperature of -

1. 1700-900 centigrade

| ]

. 1200-1300 centigrade

%)

. 1200-600 centigrade

4. 700-900 centigrade
Options :
686340196981. 1
686340196982. 2
686340196983. 3
686340196984. 4

Question Number : 46 Question Id : 68634049864 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fordt 1 el 3R 21 & &ci= &l fha qrauT U T ol o

1. 1700-900 =C

| R

. 1200-1300 =C

e

. 1200-600 °C

4. 700-900 =C
Options :
686340196981. 1
686340196982. 2
686340196983. 3
686340196984. 4

Question Number : 47 Question Id : 68634049865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The method of & the Red Grantie while finishing is
known as carving.

1. Building and moulding
2. Modeling and casting
3. Graving and cutting

4. Casting and carving
Options :
686340196985. 1
686340196986. 2
686340196987. 3
686340196988. 4

Question Number : 47 Question Id : 68634049865 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATd J15E Bl 3R 1 [ &1 TaHe & =9 4 <@l
SR

1. T 3R Hies

2. Ais 3R gy
3. TRIRET 3R BTl
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Options :

686340196985. 1
686340196986. 2
686340196987. 3
686340196988. 4

Question Number : 48 Question Id : 68634049866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Armature works as a skeleton in a sculpture. To take the clay higher. we need -

1. L pape

| )

'Z pipe

Tl

.'M' pipe

4. " pipe
Options :
686340196989. 1
686340196990. 2
686340196991. 3
686340196992. 4

Question Number : 48 Question Id : 68634049866 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ofdepe ¥ RIER eldl B HH-H DR DI GG dl gl 5 |

1. L' Yig4
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VAL | EL]
3. 'M'UIgU
4. U 4ig4

Options :

686340196989. 1
686340196990. 2
686340196991. 3
686340196992. 4

Question Number : 49 Question Id : 68634049867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A model of solid casting system is dried first -

1. By electric temperature

| ]

. In room temperature

Tl

In fire

4. In direct sunlight
Options :
686340196993. 1
686340196994. 2
686340196995. 3
686340196996. 4

Question Number : 49 Question Id : 68634049867 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340196993. 1
686340196994. 2
686340196995. 3
686340196996. 4

Question Number : 50 Question Id : 68634049868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Catalist. resin. exeletre ete.. are used for sculpture in -

1. Block wood

| ]

. Brass metal
3. Fiber glass

4. Marble stone
Options :
686340196997. 1
686340196998. 2
686340196999. 3
686340197000. 4

Question Number : 50 Question Id : 68634049868 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340196997. 1
686340196998. 2
686340196999. 3
686340197000. 4

Question Number : 51 Question Id : 68634049869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Pine needles. ferns. leaf, coffee. sawdust are textural matenals used for

1. Terracotta

| ]

. Clay

Tl

. Stone

4. Wood
Options :
686340197001. 1
686340197002. 2
686340197003. 3
686340197004. 4

Question Number : 51 Question Id : 68634049869 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340197001. 1
686340197002. 2
686340197003. 3
686340197004. 4

Question Number : 52 Question Id : 68634049870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Pietra Dura technique involves laying

1. Metal wire into wood

| ]

. Stained Glass into lead frame

%)

. Semi-precious stones mto stone

4. Ivory into wood
Options :
686340197005. 1
686340197006. 2
686340197007. 3
686340197008. 4

Question Number : 52 Question Id : 68634049870 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IOaRT g1 a1 fobd I Hafd Bl

1. A®sl H Hed &1 dR
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Options :

686340197005. 1
686340197006. 2
686340197007 3
686340197008. 4

Question Number : 53 Question Id : 68634049871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Porcelain can only be cast by the following process :

1. Press mould

| )

. Slip casting

Tl

. Lost wax

4. Piece mould
Options :
686340197009. 1
686340197010. 2
686340197011. 3
686340197012. 4

Question Number : 53 Question Id : 68634049871 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R SH-H U Ulchdl GR1 &1 il 67
1. U9 Al
2. TG DI
3. ¥R 9ad

4. U O
Options :
686340197009. 1
686340197010. 2
686340197011. 3
686340197012. 4

Question Number : 54 Question Id : 68634049872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: Bronze sculpture is very durable and can even be displayed outside.
Statement IT: Lost wax casting and sand casting are not a part of bronze sculpture
making techniques.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement I and Statement II are true

-2

. Both Statement I and Statement II are false
3. Statement I 15 true but Statement II 15 false

4, Statement I 1s false but Statement II 1s true
Options :
686340197013. 1
686340197014. 2
686340197015. 3
686340197016. 4

Question Number : 54 Question Id : 68634049872 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. BYT1TTAd. AP HYT 11 Tol &
Options :
686340197013. 1
686340197014. 2
686340197015. 3
686340197016. 4




Question Number : 55 Question Id : 68634049873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:
Statement I; Cast concrete 1s sometimes also called "caststone".

Statement II; Concrete 15 a mixture of cement: a binder such as stone. sand or
gravel and water

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement I and Statement II are true
2. Both Statement I and Statement I[ are false
3. Statement [ 15 true but Statement II is false

4. Statement I is false but Statement II 1s true
Options :
686340197017. 1
686340197018. 2
686340197019. 3
686340197020. 4

Question Number : 55 Question Id : 68634049873 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340197017. 1
686340197018. 2
686340197019. 3
686340197020. 4

Question Number : 56 Question Id : 68634049874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : Sculptures are one of the oldest forms of art.

Reason R : Additive sculpturing is a process of creating sculpture by adding
material to create the work.

In the light of the above statements. choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. A1s true but R is false

4. A 1s false but R 1s true
Options :
686340197021. 1
686340197022. 2
686340197023. 3
686340197024. 4

Question Number : 56 Question Id : 68634049874 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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3. HYF 1 Yol 5. Al HYA 11 7ad ©
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Options :
686340197021. 1
686340197022. 2
686340197023. 3
686340197024. 4

Question Number : 57 Question Id : 68634049875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Traditional materials and techniques are far from having being
abandoned. but today's artist no longer define themselves. primarily in terms of
their discipline.

Statement II: New media artists have moved away from abstraction and towards an
engagement with the world around them.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement [ and Statement I are true
2. Both Statement [ and Statement II are false
3. Statement I 1 true but Statement II 1s false
4, Statement I 15 false but Statement II 1s true
Options :
686340197025. 1

686340197026. 2
686340197027. 3



686340197028. 4

Question Number : 57 Question Id : 68634049875 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340197025. 1
686340197026. 2
686340197027. 3
686340197028. 4
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Question Number : 58 Question Id : 68634049876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : A sculpture involves actual three-dimentional forms rather than
illusionary ones.

Reason R : Three-dimenstionality in sculpture is illusionary.

In the light of the above statements, choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A1s true but R 1s false

4. A 1s false but R 1s true
Options :
686340197029. 1
686340197030. 2
686340197031. 3
686340197032. 4

Question Number : 58 Question Id : 68634049876 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
686340197029. 1
686340197030. 2
686340197031. 3
686340197032. 4
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Question Number : 59 Question Id : 68634049877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements; one is labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : Breathing the metal casting feum's can cause tremendous health
problems. including cancer.

Reason R : To prevent from poisonous gas. one must always wear mask for mouth
and nose protection before casting.

In the light of the above statements. choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A

|

. Both A and R are true but R 1s NOT the correct explanation of A

LN

. A 1s true but B 1s false

4. A 1s false but R 1s true
Options :
686340197033. 1
686340197034. 2
686340197035.3
686340197036. 4

Question Number : 59 Question Id : 68634049877 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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4. BYF 17T, AfpT HYT 1 T3 &
Options :
686340197033. 1
686340197034. 2
686340197035. 3
686340197036. 4
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Question Number : 60 Question Id : 68634049878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements; one 1s labelled as Assertion A and the other 15
labelled as Reason R

Assertion A : Indian traditional metal casting 1s categorised as "gravitiy cast”.

Reason R : In "gravity cast” molted metal 1s poured outside the space of the cold
wax.

In the light of the above statements, choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A
2. Both A and R are true but R 1s NOT the correct explanation of A
3. A1s true but R 1s false

4. A 1s false but R 1s true
Options :
686340197037. 1
686340197038. 2
686340197039. 3



686340197040. 4

Question Number : 60 Question Id : 68634049878 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340197037. 1
686340197038. 2
686340197039. 3
686340197040. 4

| ]

a2

Question Number : 61 Question Id : 68634049879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : Plaster of Paris is made of gypsum.

Reason R : Limestone 1s also added 1n plaster of paris and can be expressed as

CaCOj3 + heat = CaO + CO,

In the light of the above statements. choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 1s NOT the correct explanation of A
3. A1s true but R is false

4. A 1s false but R 1s true
Options :
686340197041. 1
686340197042. 2
686340197043. 3
686340197044. 4

Question Number : 61 Question Id : 68634049879 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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686340197044. 4

Question Number : 62 Question Id : 68634049880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : Stone ware 1s fired in low temperature.

Reason R : Because it 1s stronger than an earthen ware.

In the light of the above statements. choose the correct answer from the options
given below

1. Both A and R are true and R i1s the correct explanation of A

| B

. Both A and R are true but R 1s NOT the correct explanation of A

L)

. A 15 true but R 1s false

4. A 1s false but R 1s true
Options :
686340197045. 1
686340197046. 2
686340197047. 3
686340197048. 4

Question Number : 62 Question Id : 68634049880 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

686340197045. 1
686340197046. 2
686340197047. 3
686340197048. 4

Question Number : 63 Question Id : 68634049881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : The Art of Clay is as old as man himself.

Reason R : Clay being a easily available material. 1s versatile. and organic.

In the light of the above statements. choose the correct answer from the options
given below

1. Both A and R are true and R i1s the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. A is true but R is false

4. A 1s false but R 1s true
Options :
686340197049. 1
686340197050. 2
686340197051. 3
686340197052. 4

Question Number : 63 Question Id : 68634049881 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIUl (Reason R) & 3 1 %

Y A: el & et Ia-1 of RHAT 5, foia-! @y

DRUIR; Sl U AT I Suae AT § ol g9t nﬁﬁﬁ?ﬁ%

SWRIGT PUYF & faD H, =1 ey famedt ﬁﬁ“%‘tﬂ@dugqﬂ 3R DI T4

1.ARRGHI T8I AR R. A DI Jol ARAT &

2. A 3R R GIF1 9S8, Qb1 R. A P Tel oUReAT Tel &
. ATEI e AfTR ORI IS ©
4. ATS TG APTR TR §

Options :

686340197049. 1
686340197050. 2
686340197051. 3
686340197052. 4

Question Number : 64 Question Id : 68634049882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Lost and wax process i1s lughly used in metal sculptures of
chattishgarh.

Statement II: Because this technique showcases preciseness and is hollow in
nature.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement I and Statement II are true

[ )

. Both Statement I and Statement IT are false

L)

. Statement I is true but Statement II 1s false

4, Statement I 1s false but Statement II 1s true
Options :
686340197053. 1
686340197054. 2
686340197055.3
686340197056. 4



Question Number : 64 Question Id : 68634049882 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

19 <1 Y AU &: U SAUBYT (Assertion A) & 39 H faifd T 1 gv1 39
PNl (Reason R}%zﬁqﬁ:

HIUBHYT A: TUHTG Bl DI Gfd Sl H Ae dog TPH-1P P 9gd 1G]
T B

RO R: TP T8 db-1d ATHA 1 G idhdl (4@l o 3R I8 ez H @raat
B &

SWRIFd PY & 3iTaie H, 143U fabcul ¥ 9 9ad U 3R &I 994

1. AR R A T8I 8 IR R. A D! ol ARAT &

[ ]

A 3R R 3 U8 &, AfPTR. AP GEl ARAT TS &
AT AR TR TE

T

4. ATEI ol APIRTEI §
Options :
686340197053. 1
686340197054. 2
686340197055. 3
686340197056. 4

Question Number : 65 Question Id : 68634049883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : Maquets are highly important in sculptures as they are a miniature
version of the final sculpture,

Reason R : In clay sculptures. maquets can also be used to replace the armature to
provide photo-realism.

In the light of the above statements. choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 18 NOT the correct explanation of A
3. Ais true but R is false

4. A 1s false but R 1s true
Options :
686340197057. 1
686340197058. 2
686340197059. 3
686340197060. 4

Question Number : 65 Question Id : 68634049883 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 €1 BY ST B: U SHUDYT (Assertion A) D 9 ARG € ol g1 39D
P[0l (Reason R) & vY H:

3By A: Hideen H Hahe it Hgayul & | Fife d ifdH gide o1
UF TY TR0 g

@R R: gl S gfdee & Bic gUddg UeH $3- & (o RA=R &1 95
& foT Fahe o1 1l IUTT & off 9l 5 |

SWRIdd DY D 3MTadid H, H4 [SU fdhcul § 9 9ad8 Iugad Gk &l 994

Py

1. A SRR G UGl € IR R. A D! el SARAT &

2. A SR R M HE1 6. Wi R, A DT UEl URAT T8l ©
3. ATRIE AfPT R USTEl §

4 AT RIS APTRTE B

Options :
686340197057. 1




686340197058. 2
686340197059. 3
686340197060. 4

Question Number : 66 Question Id : 68634049884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Raku 1s made of coarse gramned clay containing lots of grog and sand
particles.

Reason R : Because it gives desirable texture, finish and strength.

In the light of the above statements, choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A

[ ]

. Both A and R are true but R 1s NOT the correct explanation of A

L]

. A 1s true but B 1s false

4, A 1s false but R 1s true
Options :
686340197061. 1
686340197062. 2
686340197063. 3
686340197064. 4

Question Number : 66 Question Id : 68634049884 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D

PIRUl (Reason R) & $U H:

gfwma:ﬂ@ﬁ%mﬁawﬁfﬁﬁﬁw@m% [OTT® TTT SR ¥d & ST Bid
|

HRUTR: T T ST SR SF=R AToige g i Sar g

SWRIFd PY & 3Maie U, Hd f4U fabeul ¥ 9 gad Uy 3R &l 994

1. A 3R R &I 6l € IR R. A B gl AHT ©

2. A 3R R G 9El €. Wih R, A &1 UEl U 8l ©
3. AGEI AR O TR ©

4. ARl TR g afdT R WET §

Options :

686340197061. 1
686340197062. 2
686340197063. 3
686340197064. 4

Question Number : 67 Question Id : 68634049885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one 1s labelled as Assertion A and the other is
labelled as Reason R

Assertion A : Bronze sculptures are stronger than Aluminium sculptures. It is the
compostioon of alloys in bronze that makes it stronger.

Reason R : The high ratio of copper. zine and tin in bronze with a little addition of
lead. makes the material stronger and ensures greater pliability in the medium.

In the light of the above statements. choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A

-2

. Both A and R are true but R 1s NOT the correct explanation of A
3. Ais true but R is false

4. A 1s false but R 1s true
Options :
686340197065. 1
686340197066. 2



686340197067. 3
686340197068. 4

Question Number : 67 Question Id : 68634049885 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

- €1 YU [T §: TP SIHPHUT (Assertion A) & 39 H foTRad § dl gIR1 39D
PIRUl (Reason R) & $U H:

S YF A: B Gfd Uegbii-aq 3 4fd I Aoied | Fifd g gid fafia
oTq & 01 Ue § Hoted gid o

DRUR: B ¥ did, S duT €14 &1 3= 3Urd Ud Uis &9 (ds) 9y 1
T &1 goigd 3R 3 dia sl 6 |

SWRIFd PY & 3Maie U, Hd [4U fdbeul I 9 gad Iuged 3R &l 994

A 3R R G U6l § IR R. A S gl ARHAT &

A SRR G U8l §. Al R. A B Tel TRAT 81 &
AT IFIR TGS
ATEI TRl T dfdTR el e

Options :

686340197065. 1
686340197066. 2
686340197067. 3
686340197068. 4

—

| ]

L]

e

Question Number : 68 Question Id : 68634049886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A : While composing a sculpture. maximum flexibility and freedom can
be exercised 1n the medium of bronze casting as compared to other media.

Reason R : Bronze sculptures. once cast cannot break therefore any types of shapes
can be explored.

In the light of the above statements. choose the correct answer from the options
given below

1. Both A and R are true and R 1s the correct explanation of A

| ]

. Both A and R are true but R 18 NOT the correct explanation of A
3. Ais true but R is false

4. A 1s false but R 1s true
Options :
686340197069. 1
686340197070. 2
686340197071. 3
686340197072. 4

Question Number : 68 Question Id : 68634049886 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 €1 BY ST B: U SHUDYT (Assertion A) D 9 ARG € ol g1 39D
P[0l (Reason R) & ¥Y H:

HIYDHYA A: GidD el DI =1 DA § DI & 11y &1 Gfd J siddan

T SR FadAdT $1 AT I Ffd St off 9ebd! 81 30 3 S ga-1 5
HRUI R: B H(dDhl, ST 6l of- & 81 TR ¢C ol Tobdl ¢ | iy ol off
YBR DI Hpicdl BT Udl AT o Febell 6|

SWRIFd DY D 3iaie H, H4 [SU fdbcul § 9 9ad Iugad 9k &l 94

Py

1. A SRR G UGl € IR R. A D! el SARAT &

A 3R R S ¥l 8. AT R. A B Uel RAT 181 &
ATEI g AP R IR TR §

4 AT RIS APTRTE B

Options :
6863401970609. 1

-2
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686340197070. 2
686340197071. 3
686340197072. 4

Question Number : 69 Question Id : 68634049887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Place in sequence according to the procedure of metal casting in sculptures.

. Sculpture in clay

. waste mould

. cutting the runner and rizen
. Waxing

. firing the mould

)

Choose the correct answer from the options given below:
1.B.A.D.E.C
2.C,A,E.B.D
33JA.B.D.E C

4.B.D.E.C.A
Options :
686340197073. 1
686340197074. 2
686340197075. 3
686340197076. 4

Question Number : 69 Question Id : 68634049887 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt gaTs Uishar &1 HHUR wafeyd Hifod |
A gt s gfd

B. 4% Alts
C. TR ah? A5 DI PHIel

D. afdm
E. HIts &I digHl

Frofafad 3 & d v g -

LB A DE €

| ]

. ACH B
3SABRDEC

4. B.D.E.C.A
Options :
686340197073. 1
686340197074. 2
686340197075. 3
686340197076. 4

Question Number : 70 Question Id : 68634049888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sequence for sand casting

A. Coat with shellac

B. Coat with Talcum

C. Pouring of molten metal

D. Making of positive mould

E. Creation of a whole for pouring the metal

Choose the correct answer from the options given below:

LABDCE

-2

A B DA
3. DEA B C. B
4. D.A.B.E.C

Options :
686340197077. 1



686340197078. 2
686340197079. 3
686340197080. 4

Question Number : 70 Question Id : 68634049888 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U3 HIfET ufesan &1 o9 § ouafeud Sifom|

A g s gy sl
B. cOd & UIY Bl
C. foed g uTd &1 ST

D. Uifsifed dies (APRIES GidN) & g1
E. AIcs 1 8¢ &1 o8 3uH Y1d &1 STal ol 9

Frofafad 3 & d v g -

1: A B, DCE

2. B A TG
a B B

4. D.A.B.E.C
Options :
686340197077. 1
686340197078. 2
686340197079. 3
686340197080. 4

Question Number : 71 Question Id : 68634049889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Select correct sequence in escalting oreder of resistance to corrosion :

A, Iron

B. Gold

C. Tmn

D. Copper

E. Aluminium

Choose the correct answer from the options given below:
1.E.C.B.A. D
2ZACRD B
3. ADECB

4. A, C.B.E.D
Options :
686340197081. 1
686340197082. 2
686340197083. 3
686340197084. 4

Question Number : 71 Question Id : 68634049889 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG ¥ HH S T & hH H YT Bl Hareyd HY |

A QI8
B. I
C.eH
D. B
E. UTegii-gn
= feu e fadegl & ¥ 98l IR difeiu .

1B € .BAD

2iAC B DB
3IADECH
4. A.C.B.E.D

Options :
686340197081. 1



686340197082. 2
686340197083. 3
686340197084. 4

Question Number : 72 Question Id : 68634049890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Select the correct sequence of clay sculptures.

A. Butterfly

B. Casting

C. Armature

D. Clay modelling
E. Mould making

Choose the correct answer from the options given below:
1:B, C. D, E.A
2ZACERED B
3.CDAERB

4. C.A.D.E.B
Options :
686340197085. 1
686340197086. 2
686340197087. 3
686340197088. 4

Question Number : 72 Question Id : 68634049890 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et 1 g &I &= @1 Uihar &1 %H § ouaieyd &1

D. & HIS AT (H3=An
E. Hits B g4

- fau e fagedl # ¥ el IR 4o -

1: B, C, D BEA

2.A CED B
ICIDAETR

4. C.A.D.E.B
Options :
686340197085. 1
686340197086. 2
686340197087. 3
686340197088. 4

Question Number : 73 Question Id : 68634049891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Bronze casting, especially for large scale sculptures. is a complicated and involved
process. sequence the following according to it.

A. Pouring bronze
B. Welding

C. Mould

D. Patina

E. Fimishing

Choose the correct answer from the options given below:

LoAC B INE

| ]

AR B; B D
3B D EoAE

4. C.A.D.E.B
Options :



686340197089. 1
686340197090. 2
686340197091. 3
686340197092. 4

Question Number : 73 Question Id : 68634049891 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT GaTg Hichdl SRR 95 HHR B Hfd a1 & o0 Wi fhg1 S g1 erg
cals Uiehdl &1 A § Sareud e

- fqu 7T fomed! H ¥ Fet IR 2o -
1:A,C, B.D,E
2.C,A,B,E,D
3.B,D.E.A,C

4. C.A.D.E.B
Options :
686340197089. 1
686340197090. 2
686340197091. 3
686340197092. 4

Question Number : 74 Question Id : 68634049892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Chronologically sequence the steps of the lost wax technique of metal casting

A. Coated 1n wax and encased 1n plaster.

B. Mould of a disered form.

C. The w ax 1s replaced by molten bronze.

D. Once solidified the plaster mould is broken.
E. Bronze is smoothened and polished.

Choose the correct answer from the options given below:
1A B.C,D.E
2ED. C B A
3.BACIDLE

4 A.B.C,E.D
Options :
686340197093. 1
686340197094. 2
686340197095. 3
686340197096. 4

Question Number : 74 Question Id : 68634049892 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AR 9o qd-iid Hod DIRCT Uichal T 1 59 Hishadl &l HHIMER ouaiedd ®1|

A TOER & Alcs § 999 & die
B. U%h [dfwsd &4 &1 gl
C. [Uud 50 S &1 4 & T R agal

D. T% R o & a1 WReR HIES 31 d1$ ga gl
E. B & faaAr iR uifersr &1

-4 fqu e fomed! H § Fet IR <o -

oA B G Dy B

2B BE B A
A EBEAGCDE
4 A.B,C.E.D

Options :
686340197093. 1



686340197094. 2
686340197095. 3
686340197096. 4

Question Number : 75 Question Id : 68634049893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
chronologically sequence the making process of fiber casting sculptures.

A. Rubber solution is wrapped to get an impression of mould
B. Smooth it with sanding and apply paints

C. Clay sculpture used as a model for the fiber resin figure.

D. A chalk powder and fiber liquid are mixed in resin container.
E. Dried fiber figure is removed out of the mould.

Choose the correct answer from the options given below:

LD C BB

I-J

O AD. EB
3. C.AE BiA

4. D.E.A.C.B
Options :
686340197097. 1
686340197098. 2
686340197099. 3
686340197100. 4

Question Number : 75 Question Id : 68634049893 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WIgaR DI Hlddbal Hichdl Bl HHIR T |
A, TITS &1 3T UT- & 70 e & 91 & quel Sl gl
B. & I H[UF $=A1 Td [T A
C. &1 gfd &1 U Hisd & =4 J YA Hd § BIgaR A B SHHid 4
D. A1 YIS 3R IR b1 U F1Y (HiYd B 8|
E. 31 531 BI2aR qid Dl Hics I HabTa]

- fau e fagedl # ¥ el IR 4o -

L: Dyl BqByA

3 Gl U B I
A A B Ry

4. D.EAC.B
Options :
686340197097. 1
686340197098. 2
686340197099. 3
686340197100. 4

Question Number : 76 Question Id : 68634049894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the following according to the steps of repoussing?

A. Annealing. to make it malleable

B. Pich blacking. to place the metal over a layer of pitch

C. Lining. to draw on the plate with a special tool.

D. Repoussé and chasing by continuos beating done by hammering.
E. Polished. rubbed and smoothened

Choose the correct answer from the options given below:
1.B.A.C.D.E
2.D.AB,CE
3 ED.ABC
4. C.A.B.D.E

Options :
686340197101. 1



686340197102. 2
686340197103. 3
686340197104. 4

Question Number : 76 Question Id : 68634049894 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OIS GB-id S DI Uichdl &1 H H ogalRud Hifoig

A. UFIeH &1 9aRT $3d & | A0uad & & [eg

B. = &1, o1q &1 U9 &1 IRd 1R 3@ & e

C. ferl-1. T fa=ie Suesor & 91y wie R 3G &1 & o
D. RUesiR AT, TR §41S U Texis 8 Uiel

E. GITerR1, TS 3R WY A1

=i fau T fodedl | ¥ el IR ST -

1B, &, €, D, F

| ]

'D.A.B.C.E
3.E.D.A.B.C

4 C.A.B.D.E
Options :
686340197101. 1
686340197102. 2
686340197103. 3
686340197104. 4

Question Number : 77 Question Id : 68634049895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are an alloy :

A, Copper
B. Zinc

C. Bronze
D. Brass
E. Tin

Choose the correct answer from the options given below:
l.Dand E
2 Cand E
3.C.Dand E

4.B.Cand D
Options :
686340197105. 1
686340197106. 2
686340197107. 3
686340197108. 4

Question Number : 77 Question Id : 68634049895 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
g I UaT Ui FFY 8

A B
B. f5id
C. B
D. I
E.TH

- fau e fgeedl & 9 9Et IR <ifo -
1.D 3R E

C3RE

3.C.D 3RE

4.B.C 3RD

Options :

[ ]



686340197105. 1
686340197106. 2
686340197107. 3
686340197108. 4

Question Number : 78 Question Id : 68634049896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In which state does indeginous metal casting that 1s Dogra takes place.

A. Bengal

B. Pchalgram
C. Bihar

D. Chattisgarh
E. Jasrotta

Choose the correct answer from the options given below:

1. A, B. E only

| S

.B. C.D only

L]

.A. C.D only

4. C.A.B only
Options :
686340197109. 1
686340197110. 2
686340197111. 3
686340197112. 4

Question Number : 78 Question Id : 68634049896 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



SITRI 1 fop Tsui & glaT &
A, §7TA
B. JgTUH
c. faEr
D. BTG
E. STERIe]

1= feu Tt fam el H 9 Hel SR difvie .
1.9d A, B, E

. $duB,C.D

. PdU A, C, D

4. PATC, A, B

Options :

686340197109. 1
686340197110. 2
686340197111. 3
686340197112. 4

[ )
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Question Number : 79 Question Id : 68634049897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tools use to carve out the stone are -

A. Small flat edged chisel
B. Scales

C. Araldite

D. Diamond tip chisel

Choose the correct answer from the options given below:

1. A. D only

|

. C.D only
3.D. B only
4. B, C only

Options :
686340197113. 1



686340197114. 2
686340197115. 3
686340197116. 4

Question Number : 79 Question Id : 68634049897 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wH SHRIAT & U $1H-971 3SR &1 JaiT eidl g

C. RASGE

D. SUHS W &I &1

1= feu e fas el & § Fel SR <o ;
1.Hdd A, D

. $qaC, D

.$duD, B

4. AU B, C

Options :

686340197113. 1
686340197114. 2
686340197115. 3
686340197116. 4

| ]

LI}

Question Number : 80 Question Id : 68634049898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Raw materials and tools are required for stone carving are :

A Drilling machine
B. Grinding machine
C. Concrete

D. Sand paper

Choose the correct answer from the options given below:

1.B. C. D only

| ]

.C.D.Aonly
3. A. B. C only

4. A.B.D only
Options :
686340197117. 1
686340197118. 2
686340197119. 3
686340197120. 4

Question Number : 80 Question Id : 68634049898 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TH BIfGT & o 390 I F=1 A1 3R $1H-91 39R S0 sidl ol
A f3fem asia
B. U= oY HYH
C. dshic
D. 43 TR

e f4U U fdedl § 9 Tl SR St -
1.%dd B, C. D
2. ®dU C. D, A
3. B9AA.B.C
4, DA A, B.D
Options :

686340197117. 1
686340197118. 2




686340197119. 3
686340197120. 4

Question Number : 81 Question Id : 68634049899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Characteristics of sandstone are

A. Hard

B. Soft

C. Crystalline
D. Sedumentary
E. Layers

Choose the correct answer from the options given below:

1.B.D. E only

I-J

.C,D, E only
3.D.C. Aonly

4. A.D.E only
Options :
686340197121. 1
686340197122. 2
686340197123. 3
686340197124. 4

Question Number : 81 Question Id : 68634049899 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1= feu Tt fam el H 9 Hel SR difvie .
1.9du B, D, E

. $duC, D, E

. $dUD,E. A

4. PAUA. D, E

Options :

686340197121. 1
686340197122. 2
686340197123. 3
686340197124. 4

[ )

L}

Question Number : 82 Question Id : 68634049900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
are used to stick the broken pieces together in stone,

A. Rubber paste

B. Metal dust paste
C. Fevibond

D. Araldite

Choose the correct answer from the options given below:

1. B. C only

| ]

. A. B only
3.B.D only
4. D, C only

Options :
686340197125. 1



686340197126. 2
686340197127. 3
686340197128. 4

Question Number : 82 Question Id : 68634049900 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T TNT €2 §U URR & U H1 ol & forg fapar orar €1

A IERUE

B. Hed ¢ Uk
C. Biads U
D. TRaSI5e U

1= feu e fas el & § Fel SR <o ;
1.®dd B, C

DI A. B

. $du B, D

4. D, C

Options :

686340197125. 1
686340197126. 2
686340197127. 3
686340197128. 4

| ]

LI}

Question Number : 83 Question Id : 68634049901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which are the stones which are mainly used for sculptures

A. Soapstone

B. Black granite
C. Red granite
D. Walnut stone

Choose the correct answer from the options given below:
1. A. C.D only
2.B.D. Aonly
3.B.C.D only

4. A.B. C only
Options :
686340197129. 1
686340197130. 2
686340197131. 3
686340197132. 4

Question Number : 83 Question Id : 68634049901 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

®IH-91 YeR 4 8- & g 9 a1 o1 8

A IO

B. Xi® I8¢
C.3S UAI5C

D. dieHe &H
-1 fgu Tt fasedi 5 9§ Tal SR difee .
1.4 A.C.D
2. B4 B.D. A
3.%4dB.C.D
4, BAT A, B.C
Options :

686340197129. 1
686340197130. 2



686340197131. 3
686340197132. 4

Question Number : 84 Question Id : 68634049902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In Fiber Casting Statue, tools and raw materials that are used are :

A, Fiber Liquid

B. Rubber Mold

C. Die Grinder

D. Butterfly and Bird tool

Choose the correct answer from the options given below:

1. A.B.D only

[

.B.C.D only
3. A.C.D only

4. A.B. C only
Options :
686340197133. 1
686340197134. 2
686340197135. 3
686340197136. 4

Question Number : 84 Question Id : 68634049902 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BlgaR Gldddl J ®H-91 S{eR SR He=l 31d & Wi gial g |

A BER f[dies

B. 3&§X Aits
csﬁmg%?

D. 5 WTE 3R [Afsarca

1= fau e famedl H 9 Hel SR difvie .
1. 94U A, B, D
2. $dd B, C.D
3. %AW A, C,D
4. PATA. B, C

Options :

686340197133. 1
686340197134. 2
686340197135. 3
686340197136. 4

Question Number : 85 Question Id : 68634049903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are harder to carve. but are less likely to rot in damp
conditions?

A. Oak wood

B. Lime wood

C. Walnut wood

D. Swedish Cook wood

Choose the correct answer from the options given below:

1. A. B only

IJ

.B. C only

L]

. C.D only

4. A. C only
Options :
686340197137. 1



686340197138. 2
686340197139. 3
686340197140. 4

Question Number : 85 Question Id : 68634049903 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafaraa d © o0 aemT &6 g1 @ifds 77 uRfRufaal & gsar—gi g1

A S TS

B. WA TS
C.dleic 43
D. WIS & s

1= feu e fas el & § Fel SR <o ;
1. HdU A, B

. $AUB, C

. $auC, D

4. AT A, C

Options :

686340197137. 1
686340197138. 2
686340197139. 3
686340197140. 4

| ]

LI}

Question Number : 86 Question Id : 68634049904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following techniques focuses on substraction method?

A, Stone carving
B. Clay modelling
C. Metal casting
D. Wood carving
E. P.O.P making

Choose the correct answer from the options given below:
1. A. B only
2. B, C only
3.C.E only

4. A. D only
Options :
686340197141. 1
686340197142. 2
686340197143. 3
686340197144. 4

Question Number : 86 Question Id : 68634049904 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIH-l TH-IP e i Uichdl IR i g

A, T BT
B. & HISlT
C. Hed BIRET
D. g8 Pifa
E.P.O.P Bl &I

1= feu Tt fam el § 9 Hel SR i .
1. PdU A, B
2. HAUB, C
3.%dd C,E
4. HATA.D

Options :




686340197141. 1
686340197142. 2
686340197143. 3
686340197144. 4

Question Number : 87 Question Id : 68634049905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The compostion of Bronze Alloy has

A. 90% copper

B. 07% tin

C. 10% tin

D. 02% zinc and 01% lead

E. 87% copper
Choose the correct answer from the options given below:

1. A.B.D only

|

. A. C only

L]

.E.D, C only

4. A. C.D only
Options :
686340197145. 1
686340197146. 2
686340197147. 3
686340197148. 4

Question Number : 87 Question Id : 68634049905 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DI & Jucd 1 g2

A. 90% HITR

B. 07% ¢IF

C.10% 2

D. 02% ol 3R 01% o' (&)

v

E. 87% PIUX

1= feu Tt fam el H 9 Hel SR difvie .
1. 94U A, B, D

PATA. C

. ®dUE, D, C

4. PAUA.C,D

Options :

686340197145. 1
686340197146. 2
686340197147. 3
686340197148. 4

| )

L}

Question Number : 88 Question Id : 68634049906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Pallet [. |Stone
B. [Chiesel II. [Fiber glass
C. |Wire tool I11. [Wood
D. |[Cobalt IV |Clay

Choose the correct answer from the options given below:
1. A-TIL. B-IV. C-II. D-I
2. A-IL. B-1. C-IV. D-III
3. A-IV. B-1. C-III. D-II

4. A-III. B-1. C-IV, D-II
Options :



686340197149. 1
686340197150. 2
686340197151. 3
686340197152. 4

Question Number : 88 Question Id : 68634049906 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

et 1 1 =il 11 9 e ifore
1 T
HeTe L [
GG II. [RIEe ™

AR & 1L [g8 (@ g)
EZEIR IV. [[FEt

fAgfafad fawedl § 9 9al 33 &1 994 Hifel

1. A-IIL. B-IV. C-II. D-I

ola[w]>

2. A-II. B-1. C-IV., D-III

CA-IV. B-1. C-1I11. D-II

L]

4. A-III. B-1. C-IV. D-II
Options :
686340197149. 1
686340197150. 2
686340197151. 3
686340197152. 4

Question Number : 89 Question Id : 68634049907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A |Grinder [. MMetal
B. |Spactula II. [Clay
C. [Raisin III. |Stone
D. [Wax IV. |[Fiber glass

Choose the correct answer from the options given below:
1. A-IIL. B-II. C-IV. D-I
2. A-IV. B-I. C-II. D-III
3. A-I. B-IL. C-IV. D-III

4. A-II. B-1. C-IV, D-III
Options :
686340197153. 1
686340197154. 2
686340197155. 3
686340197156. 4

Question Number : 89 Question Id : 68634049907 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore
T 1 I
A =R I ﬂgﬁu@
B. [Fal I [Hel
C. R 1L [
D. [d99 (HH) IV. [(Blgad Y
FafiRad faeedi § 9 Tl IR &1 909 I ;

1. A-TIL. B-II. C-IV. D-I

2. A-IV. B-I. C-II. D-III

cA-LL B-I1. C-IV. D-III

L]

4. A-II. B-I. C-IV, D-III
Options :
686340197153. 1



686340197154. 2
686340197155. 3
686340197156. 4

Question Number : 90 Question Id : 68634049908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Ceramic clav | 1. |Pottery
B. |Synthetic clay | II. jmodelling
C. [Epoxy clay [11. |stoneware
D. [Red clay IV. [Recycle

Choose the correct answer from the options given below:

1. A-II. B-IV. C-III. D-I

| ]

AL B-IV. C-I1L D-I
3. A-IV. B-1. C-III. D-II

4. A-I1I. B-II. C-I. D-IV
Options :
686340197157. 1
686340197158. 2
686340197159. 3
686340197160. 4

Question Number : 90 Question Id : 68634049908 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 b1 =i 11§ e ifore

1 T
A [ o 1 [aied
B. [HuRem s | 1. [\isfem
C. pusiiad |11 femam
D. R8s &1 IV. [REBsad
fgfdlad fawmedl § O gel 3 &1 994 Sifelu

1. A-I1. B-IV., C-III. D-I
2. A-IIL B-IV. C-I1. D-I
3. A-IV. B-1. C-III. D-II

4, A-III. B-II. C-I. D-IV
Options :
686340197157. 1
686340197158. 2
686340197159. 3
686340197160. 4

Question Number : 91 Question Id : 68634049909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
Black marble | I. [Vanshi pahad
White marble | II. [Chunar
E.ed sandstone | IIL [Makrana
Pink stone I'V. |Baslana

ofafw[>

Choose the correct answer from the options given below:
1. A-IIL. B-IV. C-I. D-II
2. A-L. B-III. C-I1. D-IV
3. A-IL B-1. C-IV. D-III
4. A-IV. B-III. C-I1. D-II

Options :
686340197161. 1



686340197162. 2
686340197163. 3
686340197164. 4

Question Number : 91 Question Id : 68634049909 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

a1 T 1
@AIHEd | L [@19 UgS

ghe HEd | I [EAR
da dewE | 1L [{dET
U® =i IV [§9aMT

Fafeiad [deedi ©§ 3 It 3R &1 904 S ;

1. A-IIL. B-IV. C-I, D-II

ofa]w]-

2. A-L B-III. C-II. D-IV

AL B-1 C-IV. D-III

L]

4. A-IV, B-III. C-I. D-II
Options :
686340197161. 1
686340197162. 2
686340197163. 3
686340197164. 4

Question Number : 92 Question Id : 68634049910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A [Black clay [. |Used in ceramics
B. [Bajri clay II. [Found in Hilly Areas
C. [Baked caly sculpture] III. |Grey in colour
D, |Girmyi Paste IV. |Terra-cotta

Choose the correct answer from the options given below:
1. A-II. B-III. C-L. D-IV
2. A-TIL B-IL. C-IV. D-I
3. A-IIL. B-IV. C-I1. D-I

4. A-IV. B-II. C-III, D-I
Options :
686340197165. 1
686340197166. 2
686340197167. 3
686340197168. 4

Question Number : 92 Question Id : 68634049910 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 11 g1 11§ e ifor

T 1 I
S o I [RRife 5 ydi

EEREN IL. [eTal | IR 9 oidl &
9Fs d gfd | 1L o d gadi e
e U V. [EdieT

fgfafad fawedl § O gal 3d &1 994 Difelu

1. A-II. B-III. C-I. D-IV

ola[w]>

2. A-IIL B-II. C-IV. D-I
3. A-IIL B-IV. C-1I. D-I
4. A-IV. B-II. C-1II. D-I

Options :
686340197165. 1



686340197166. 2
686340197167. 3
686340197168. 4

Question Number : 93 Question Id : 68634049911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
F.ing Relief [. |Slightly lifted up from surface
Low Relief II. |A 3D round figure
High Relief [11. |Slightly dug below from surface
Sunken Relief | IV. [Highly mounted up from surface

ofa[w]>

Choose the correct answer from the options given below:

1. A-II. B-III. C-IV. D-I

| ]

CA-IV. B-1 C-I1. D-III
3. A-IL. B-1. C-IV, D-III

4. A-IV, B-III. C-II. D-I
Options :
686340197169. 1
686340197170. 2
686340197171. 3
686340197172. 4

Question Number : 93 Question Id : 68634049911 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el 1 b1 =i 11§ e ifore

I T
31 e 1. [gdg ¥ Y81 W 3I8MT

Al s Il 3D 7Id HBR DI Gla
ERAC® | 1L [9de § YISl Aid Wal 7l
- TP | IV. [Fdg § BIH1 Gl ST 36H]

fgfdlad fawmedl § O gel 3 &1 994 Sifelu

1. A-I1. B-III, C-IV, D-I

ola[w]>

2. A-IV. B-1. C-1I. D-III
3. A-IL B-1. C-IV. D-III

4, A-IV, B-III. C-II. D-I
Options :
686340197169. 1
686340197170. 2
686340197171. 3
686340197172. 4

Question Number : 94 Question Id : 68634049912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Carving [. |Charcoal
B. [Casting II. [Wood
C. PModelling IT1. |Aluminium
D. [Drawing IV |Clay

Choose the correct answer from the options given below:
1. A-TIL. B-IV. C-II. D-I
2. A-IL B-III. C-IV. D-I
3. A-IV, B-IILL. C-I1. D-I
4. A-I. B-IV. C-II, D-III

Options :
686340197173. 1



686340197174. 2
686340197175. 3
686340197176. 4

Question Number : 94 Question Id : 68634049912 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

1 11
e
B. [®rET I [gs
c. [Arsfe 111 [Tgfi=gm
D. [giET v [frgt
Fafeiad [deedi ©§ 3 It 3R &1 904 S ;

1. A-IIL. B-IV. C-II. D-I

2. A-IT. B-III. C-IV. D-I

CA-IV, B-II1L C-I1L D-I

L]

4. A-1. B-IV. C-II. D-III
Options :
686340197173. 1
686340197174. 2
686340197175. 3
686340197176. 4

Question Number : 95 Question Id : 68634049913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A [Wood [. |Firing
B. [Stone II. |Cedra
C. Metal IIL. |[Cire Perdue
D. [Clay IV |Basalt

Choose the correct answer from the options given below:
1. A-IV. B-III. C-II. D-I
2. A-IL. B-IV., C-II1. D-I
3. A-I. B-IL. C-IV. D-III

4. A-III. B-I. C-II. D-IV
Options :
686340197177. 1
686340197178. 2
686340197179. 3
686340197180. 4

Question Number : 95 Question Id : 68634049913 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore
T 1 T
A [ads L |G
B. [gaX II. {3
C. [Hed 1L [ Ug
D [E IV. [g4lee
fefeiad fadedl O 9 |8l IR &1 994 Bif :

1. A-IV, B-III. C-II. D-I

2. A-II. B-IV. C-III. D-I

cA-LL B-I1. C-IV. D-III

L]

4. A-III. B-I. C-II. D-IV
Options :
686340197177. 1



686340197178. 2
686340197179. 3
686340197180. 4

Question Number : 96 Question Id : 68634049914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A Metal I. |Stone
B. [Lime II. [Wheel
C. [Pottery [11. |Casting
D [POP IV, |Gypsum

Choose the correct answer from the options given below:

1. A-II. B-III. C-IV. D-I

| ]

AL B-IV. C-1. D-II

L]

. A-L B-IIL. C-II. D-IV

4. A-11I. B-1. C-II. D-IV
Options :
686340197181. 1
686340197182. 2
686340197183. 3
686340197184. 4

Question Number : 96 Question Id : 68634049914 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl 11 =i 11§ i iforg
T I & 1
ed

I &=

EEk 1L [ (@)
gicdl 1 [gells

ETe? HIh Ui (p.0.p) | 1. [fomed

fgfdlad fawmedl § O gel 3 &1 994 Sifelu

1. A-I1. B-III, C-IV, D-I

ola[w]>

2. A-IIL B-IV. C-I, D-II

CA-L B-IILL C-I1L D-IV

L]

4, A-III. B-1. C-II. D-IV
Options :
686340197181. 1
686340197182. 2
686340197183. 3
686340197184. 4

Question Number : 97 Question Id : 68634049915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Sandstone [. [Volanic
B. |Granite II. [Laver
C. PMMarble ITI. Metamorphic
D. [Wood IV |Grain

Choose the correct answer from the options given below:
1. A-II. B-1. C-IIL. D-IV
2. A-L. B-III. C-IV. D-II
3. A-L B-II. C-IV. D-III
4. A-IV. B-II. C-I. D-III

Options :
686340197185. 1



686340197186. 2
686340197187. 3
686340197188. 4

Question Number : 97 Question Id : 68634049915 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

a1 T 1
Hs &H I._[did@iFd

A
B. fiFT3e I [q=3d

C. [ 111 [AeER e

D. [d8 v =
Fafeiad [deedi ©§ 3 It 3R &1 904 S ;

1. A-II. B-1. C-IIL. D-IV

2. A-L B-IIIL C-IV, D-II

CA-L B-IL C-IV. D-III

L]

4. A-IV, B-II. C-I. D-III
Options :
686340197185. 1
686340197186. 2
686340197187. 3
686340197188. 4

Question Number : 98 Question Id : 68634049916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A Metal sculpture] I. |Grog
B. |Ceramics II. [Fried clay
C. [Fiber Glass II1. |Patina
D. [Clay IV. [Resin

Choose the correct answer from the options given below:
1. A-IIL. B-1. C-IV. D-II
2. A-TIL B-IL. C-IV. D-I
3. A-IV. B-I. C-III. D-II

4. A-IV. B-1. C-II. D-III
Options :
686340197189. 1
686340197190. 2
686340197191. 3
686340197192. 4

Question Number : 98 Question Id : 68634049916 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 11 g1 11 H i sifore

T 1 T
A |urgHid L [
B. [if&® I [BIR aa
C (BR[| 0L [gdiEr
D. [fHgt V.
fafafad fae el § 9 gt 3R &1 9g Sifa -

1. A-TIL. B-1. C-IV. D-II

2. A-IIL B-II. C-IV. D-I

CA-IV. B-1. C-I11. D-II

L]

4. A-IV. B-1. C-II, D-III
Options :
686340197189. 1



686340197190. 2
686340197191. 3
686340197192. 4

Question Number : 99 Question Id : 68634049917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A |Piece mould [. Moulding from plastic medium|
B. |Spruing II. [Removal of wax
C. |Burnout I[11. Movement of metal
D. [Waste mould | IV. [For multiple casting

Choose the correct answer from the options given below:

1. A-IV. B-III. C-II. D-I

| ]

AL B-1L C-IL, D-IV
3. A-IL. B-1. C-IV, D-III

4. A-II1. B-II. C-IV. D-I
Options :
686340197193. 1
686340197194. 2
686340197195. 3
686340197196. 4

Question Number : 99 Question Id : 68634049917 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl 11 =i 11§ i iforg

I I
g Al 1 [@E® da 9 Ale g4

A
B. [ggia . [dF @I gcHI

C. [gic 1L [Tq P HTd BT

D. [a% Alcs IV. |5 USR @i cals
afeRad fdeedl O I Tt 3Tk &1 9g- Bl ;

1. A-IV, B-III. C-II. D-I

2. AL B-1. C-II. D-IV

CA-IL B-IL C-IV. D-III

L]

4, A-III. B-II. C-IV. D-I
Options :
686340197193. 1
686340197194. 2
686340197195. 3
686340197196. 4

Question Number : 100 Question Id : 68634049918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

LISTI LISTII
A JAar Blower I. [Installation
B. [Recipes I1. |Teracotta
C. |[Earthenware IIL. [Ceramics
D. [Welding IV, |Casting

Choose the correct answer from the options given below:
1. A-IV. B-II. C-I. D-III
2. A-IV. B-III. C-1. D-II
3. A-IV, B-IILL. C-I1. D-I
4. A-IV. B-1. C-II, D-III

Options :
686340197197. 1



686340197198. 2
686340197199. 3
686340197200. 4

Question Number : 100 Question Id : 68634049918 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 1 1 gt 11 1 e ifore

I 11
Eﬂ?@ﬁcﬁl}ﬁ L ET%:“HW
N R II. [EXdlel
YR 1. fRHS
CRIEU IV. [@rieT

Fafeiad [deedi ©§ 3 It 3R &1 904 S ;

1. A-IV. B-1I. C-I. D-III

ofa]w]-

2. A-IV. B-III. C-I, D-II

CA-IV, B-II1L C-I1L D-I

L]

4. A-IV, B-1. C-II. D-III
Options :
686340197197. 1
686340197198. 2
686340197199. 3
686340197200. 4



